SR E AP R

k4.

x4 Tt =2k 48

X+ dx” — 20x— 48

X+ Txt = dx+ 32

9 — 81

3xZ + Ox

H #1:

X =0+ 1x—24

AT+ 13x+ 42

¥ — 1942 + 116x — 224

X+ T =T

X+ 1637 + 77x + 98

www.snowmath.com

N



https://www.snowmath.com

o OE &

=R 2 TEA N i

W44

X4 T -2+ 48
(x+ 8)(0 —x + 6)

X + 4x> — 20x — 48
x+6)(x—4)(x+2)

X+ T —Ax+ 32
(x+ 8)(0 —x+ 4)

9x” — 8lx
Ox(x—9)

3x% + Ox
3x(x+ 3)

X — %+ 11x— 24
(x— 8)(0 —x + 3)

X+ T+ 1B3x+ 42
(x+ 6) (02 +x+7)

¥ — 195 + 116x — 224
(x—=Hx—8)(x—7)

CHE-x—7
G+ Dx—Dx+7)

X+ 16x% + 77x + 98
(c+ N+ 2)(x+ 7)
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